”Mgegg Z F‘ ﬂ& Iﬂé ‘H"](:’, g@nﬁfﬂ 0 ZM ﬁ‘of-‘: -7},—{ @

- H\e sgshzm ’Z{'E -M:%Y /2

i
|
]

b
vg’/

e e s

N

2!

whe’ro A= (

/

ih

Step 1. (owx[m‘fe the characterisfic polynomial
7 Qa - :" 5 it
p(A) = det 3) (-2 )(d-2) - be
f/a(i{): A= (a+d) A + ad - be |
L

54'6,9 /:znd H\C roots of 'fhﬁ cmalbac%erlfﬂc

Pol hO/VHﬂH (use +the ?aadm/ T"wvmu,a i f
ne cc’ar({

Let A; and A2 be tup roots
Are eig,_m/‘a/ues ol A

‘H)Cﬂ ﬂl a/l’l&( ;‘L

/

S#eP For each CIKCVLU“QL/LIC A find corresponding
@cmuﬁcfor b/ sol ving +he S(L/H—em ;

This sdq em will have a4 whole line of solubons
P:C/c m\g nonzero Soluhon 4¢ your Crecnime b

_5_‘{@_@ I{ Vi and Vo are the ef; en%ch)f( 4ou

found in step 3 and N # %2 Cthen Vi aud Vi
be /:’newi(c/ rndepend ent

-' ' [ - . '
J T’ﬂ@ v ,'fa[ Sf)ll/(ﬂ/)’n LU?,‘f{ he

I \ .5: ;
\{(JC/\ o ),{;‘; ot V: \\ Wnere K and K2
- Ke Vet Kee 2 are mémmr(y

- — gonctants

e e e e et



